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JEFE R IEI Gl B Al 15l / it B M
JEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.891 m3 = ((0.325 % 0.330 — 0.005) * 18.500) + (0.325 % 0.330 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = WEIE X JBEA X (RLIER + RIIEE + AEERE + MEER)
SRS 0.300 m3 = 0.325 * 0.050 * (18.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.300 m3 = 0.300
Ay )E 1 | HdE = A LS
(FEHI) 4.389 m3 = 4.389
Ay )E 2 | = WEHIZE2E LA
(HEHI) 3.306 m3 = 3.306
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BRETEEEES © 04130900
THEES | 04 | TR&H |ABKEHPPEGSAEIE [\ -+ES | o1 | W —F&#  |AREGI00WISHIEH=1.2As
JEFE R G L A M
S 1 [ = (ETER + RBVIER + ARIER + WMAER) + (MEFRBIE - S5Smimiig) < MFmumn) < bkiEk
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 1.000
SR 1 [ = WEE X (L TR + TR + AER + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
W 1 [ = WEE X 25 X (FTER + 2GR + AER + WMISER)
2.463 m3 = 0.750 * 0.730 * (4.500 + 0.000 + 0.000 + 0.000)
W 2 | - WEE X B X (LR + REE + LR + MELER)
2.497 m3 = 0.750 * 0.740 * (4.500 + 0.000 + 0.000 + 0.000)
AR U [ = R X (F TR + RIIER + AR + MISER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
A 1 [ = WEIE X (L TR + TR + AER + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
R AR 2 [ = WEE X (E TR + RIEE + RIRIER + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
T B L 1 [BE = WEE X 54 X (ELIER + AWEE + RIER + HEER)
2.463 m3 = 0.750 * 0.730 * (4.500 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 04130900 [ H#HEE]
| T@8%s | 04 | TI#EE#M |KBEKEHPPEGQT5AEIS L-+ES | ot | —Fa¥  [ABEG100WI5HIEH=1.2As
JEFE R EI Gl B AP 15l / it B M
FEEIH D R L 2 |EdE = (ARHNE X JEH - BEf) X FTIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
1.705 m3 = ((0.750 % 0.520 — 0.011) * 4.500) + (0.750 % 0.520 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = WEIE X JBEA X (RLIER + RIIEE + AEERE + MEER)
SRS 0.168 m3 = 0.750 * 0.050 * (4.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.168 m3 = 0. 168
Ay )E 1 | HdE = A LS
(FEHI) 2.463 m3 = 2.463
Ay )E 2 | = WEHIZE2E LA
(HEHI) 2.497 m3 = 2. 497
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BEEEEES . 04130900
IEES | 04 | TIHEEW |KBRKEHPPEGTSAEIE L-+ES | 02 | W—Fa¥  [AEG100WI5HEEH=1.2As
Ji@ Fi3 | FH A
LT 1 [ = (BTEE + 2BVEE « RILE + WEEE) + (GEFIREIE - SS@imiiE < MFRMI) X bk
2.500 m = ((2.500 + 0.000 + 0.000 + 0.000) + ((0.350 — 0.350) * 0.000)) * 1.000
EES 1 [ = WEE X (ETER + RRER + RIRLERE + MEEER)
0.875 m2 = 0.350 * (2.500 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
0.638 m3 = 0.350 * 0.730 * (2.500 + 0.000 + 0.000 + 0.000)
] 2 [BkR = ElE X B X (LTER + ARIEE + AER + MEER)
0.507 m3 = 0.350 * 0.580 * (2.500 + 0.000 + 0.000 + 0.000)
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
0.875 m2 = 0.350 * (2.500 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETER + RRER + RIRLEE + MEEERE)
0.875 m2 = 0.350 * (2.500 + 0.000 + 0.000 + 0.000)
B IH 2 [Hit = mliE X (FTHEE « RIER + RIEE + MEEE)
0.875 m2 = 0.350 * (2.500 + 0.000 + 0.000 + 0.000)
HRHELD R L 1 [BE = WEE X Eh X (LTIHER + RAER + AMIER + MEER)
0.638 m3 = 0.350 * 0.730 * (2.500 + 0.000 + 0.000 + 0.000)
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JEFE R EI Gl B AP 15l / it B M
FEEIH D R L 2 |EdE = (ARHNE X JEH - BEf) X FTIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
0.300 m3 = ((0.350 * 0.360 — 0.006) * 2.500) + (0.350 % 0.360 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = WEIE X JBEA X (RLIER + RIIEE + AEERE + MEER)
SRS 0.043 m3 = 0.350 * 0.050 * (2.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.043 m3 = 0.043
Ay )E 1 | HdE = A LS
(FEHI) 0.638 m3 = 0.638
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.507 m3 = 0.507
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BEEEEES . 04130900
IEES | 05 | TIHEE# |KBKEHPPEGSOAEIE L-+ES | 03 | v —Fa#  [ABEGISW507EEH=1.2As
Ji@ Fi3 | FH A
AL 1 [ = (BTEE + 2BVEE « RILE + WEEE) + (GEFIREIE - SS@imiiE < MFRMI) X bk
18.500 m = ((18.500 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 1.000
EES 1 [ = WEE X (ETER + RRER + RIRLERE + MEEER)
6.012 m2 = 0.325 * (18.500 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
4.389 m3 = 0.325 * 0.730 * (18.500 + 0.000 + 0.000 + 0.000)
] 2 [BkR = ElE X B X (LTER + ARIEE + AER + MEER)
3.306 m3 = 0.325 * 0.550 * (18.500 + 0.000 + 0.000 + 0.000)
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
6.012 m2 = 0.325 * (18.500 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETER + RRER + RIRLEE + MEEERE)
6.012 m2 = 0.325 * (18.500 + 0.000 + 0.000 + 0.000)
B IH 2 [Hit = mliE X (FTHEE « RIER + RIEE + MEEE)
6.012 m2 = 0.325 * (18.500 + 0.000 + 0.000 + 0.000)
HRHELD R L 1 [BE = WEE X Eh X (LTIHER + RAER + AMIER + MEER)
4.389 m3 = 0.325 * 0.730 * (18.500 + 0.000 + 0.000 + 0.000)
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JEFE R IEI Gl B AP 15l / it B M
FEEIH D R L 2 |EdE = (ARHNE X JEH - BEf) X BTIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
1.947 m3 = ((0.325 % 0.330 - 0.002) * 18.500) + (0.325 * 0.330 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = WEIE X JBEA X (RLIER + RIIEE + AEERE + MEER)
SRS 0.300 m3 = 0.325 * 0.050 * (18.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.300 m3 = 0.300
Ay )E 1 | HdE = A LS
(FEHI) 4.389 m3 = 4.389
Ay )E 2 | = WEHIZE2E LA
(HEHI) 3.306 m3 = 3.306

_12_

kT 2 AKE R




T T % E 8 E E (fF B % )
BEEEEES . 04130900
IEES | 05 | TIHEE# |KBKEHPPEGSOAEIE L-+ES | 04 | —ra#H | KEWHEHEH=1.2As
Ji@ fi3 | FH A
LT 1 [ = (BTEE + 2BVEE « RILE + WEEE) + (GEFIREIE - SS@imiiE < MFRMI) X bk
5.200 m = ((2.600 + 0.000 + 0.000 + 0.000) + ((0.550 — 0.550) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRER + RIRLERE + MEEER)
1.430 m2 = 0.550 * (2.600 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
1.043 m3 = 0.550 * 0.730 * (2.600 + 0.000 + 0.000 + 0.000)
] 2 [BkR = ElE X B X (LTER + ARIEE + AER + MEER)
0.757 m3 = 0.550 * 0.530 * (2.600 + 0.000 + 0.000 + 0.000)
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
1.430 m2 = 0.550 * (2.600 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETER + RRER + RIRLEE + MEEERE)
1.430 m2 = 0.550 * (2.600 + 0.000 + 0.000 + 0.000)
B IH 2 [Hit = mliE X (FTHEE « RIER + RIEE + MEEE)
1.430 m2 = 0.550 * (2.600 + 0.000 + 0.000 + 0.000)
HRHELD R L 1 [BE = WEE X Eh X (LTIHER + RAER + AMIER + MEER)
1.043 m3 = 0.550 * 0.730 * (2.600 + 0.000 + 0.000 + 0.000)
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JEFE R IEI Gl B Al 15l / it B M
JEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.438 m3 = ((0.550 * 0.310 — 0.002) * 2.600) + (0.550 % 0.310 * (0.000 + 0.000 + 0.000))
Ay E 1 |&EHRE R = WEIE X JBEA X (RLIER + RIIEE + AEERE + MEER)
SRS 0.071 m3 = 0.550 * 0.050 * (2.600 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.071 m3 = 0.071
Ay )E 1 | HdE = A LS
(FEHI) 1.043 m3 = 1.043
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.757 m3 = 0.757
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[EE] EH I A
] 1 [ = Wl X B4 X (ETHER + AREE + RAER + MALR)
1.152 m3 = 0.550 * 1.310 * (1.600 + 0.000 + 0.000 + 0.000)
JEHIHLD B L 1 [HE = HE X BEr X (ETER + AREE + ARER + MEALER)
0.880 m3 = 0.550 * 1.000 * (1.600 + 0.000 + 0.000 + 0.000)
HEHIHD B L 2 [BE = (GElIE x B2 - BEA) X LTHER) + GEHIIE X 82 X (RIBER + AREE + MEER))
0.269 m3 = ((0.550 * 0.310 — 0.002) * 1.600) + (0.550 * 0.310 * (0.000 + 0.000 + 0.000))
&5y 1 % - BHEUB LR - BEED R LEUBRA L&
(B E) 0.272 m3 = 1.152 - 0. 880
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21.000 m2 = 21.000 — 0.000
EEEAEIH 1| FE = AEIRER - A i
21.000 m2 = 21.000 — 0.000
ik A5 1 |&ERA G = OREIHER - araiEis) X &4
(GHAEHRH]) 1.050 m3 = (21.000 — 0.000) * 0.050
Ay )E 1 | HE = SRERAIE S
SRS 1. 050 m3 = 1.050
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21.000 m2 = 21.000 — 0. 000
EEEAEIH 1 |#E = REIREEE - R

21.000 m2 = 21.000 — 0. 000
¥ 0y e 1 [Eh2EiRE AR = OREIRWRE - (s mis) X B4
(GHAEHRH]) 1.050 m3 = (21.000 — 0.000) * 0.050
k455 1 |%kE = MEENEUE LR
SRS 1. 050 m3 = 1.050
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